)

oF

(

&t

20179 = HM3Xt =IHE EA

2017.

el




~

SAZAAANAFNASHZ 2017EE MK =+

N ME OlatSZHE

0
=
x
e

Al ol Al =
o o o 2017 2} | 20174 3%t =2 bl . o o 2017 2&} | 2017 3}
- - ZZoil2HA) | =H0l2HB) (B-A) (%) - - B ZH02HA) | FZolAHB)
=P 2,069,215 | 2,154,515 85,300 4.1 =] 2,069,215 | 2,154,515
EEST A 62,974 62,974 = N IR 1,257,668 | 1,257,668
(01) |A2Y A 3 62,974 62,974 - - (01) o124 A 3 1,151,916 | 1,151,916
(11) T2aAI A9 3,194 3,194 - - (11) 204 (111) 771,241 771,241
(111) RIA2H(112) 188, 165 188, 165
o1 2F 2t B AL 22 34,920 34,920 - - R Z(114) 101,800 101,800
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